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All Candidates' performance across questions

Question Title Mean SD Max Mark Attempt %
lai 7110 0.7 0.5 1 68.9 99.8

| abi [ 7102 | 09 | 02 | 1 | 938 | 996 |
| tbii | 6779 | 29 | 15 | 6 | 479 | 951 |
| tci | 6874 | 14 | 08 | 2 | 716 | 964 |
| 2aii | 6888 | 09 | 03 | 1 | 99 | 966 |
| 2aiv | 7032 | 06 | 07 | 2 | 32 | 987 |
i [ 7072 | 16 | 06 | 2 | 791 | 992 |
| saii | 3734 | 06 | 08 | 3 | 191 | 524 |
| 3av | 3662 | 25 | 14 | 6 | 418 | 514 |
| 3bii | 3503 | 37 | 17 | 8 | 459 | 491 |
| daii | 3487 | 07 | 07 | 3 | 236 | 489 |
| dav | 3253 | 21 | 14 | 6 | 35 | 456

4bii 3352 3 1.6 8 38.1 47

Question

100

Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	Eduqas 2019 Online Exam Review
	GCSE Geography Unit 2
	Item Level Data
	Facility factor graph
	Question 1b iii
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 2 av
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 2 bii
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 2 cii
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 3 aiv
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 3,4 aiii
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 4 aiv
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked






Example 2 - Band 4 8 marks
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(1) To what extent might projects such as HS2 reduce UK regional inequalities in the
future? Use the Resource Box to support your answer. You may also refer to other
examples you have studied. [B]

The accuracy of your writing will be assessed in your answer to this question.  [3]
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Example 2
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(a) (iv) Explain why there are large numbers of refugees and asylum

seekers originating in sub-Saharan Africa/Asia.

AO1.1
© A01.2
AQO2
AO3

SPaG
® |Total

Use the descriptors below, working upwards from the

lowest band.

Band | Marks

Descriptor

Good understanding of why
there are large number of
refugees and asylum seekers
originating in sub-Saharan
Africa/Asia.

Meaning is clear. The response
has purpose, is organised and
well structured.

Some understanding of why
there are large number of
refugees and asylum seekers
originating in sub-Saharan
Africa/Asia.

Meaning is generally clear. The
response is structured.

Simple statements that show
basic understanding of why
there are large number of
refugees and asylum seekers
originating in sub-Saharan
Africa/Asia.

Meaning may lack clarity in
parts. Statements are linked by
a basic structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Responses should show a good
understanding of why there are large
number of refugees and asylum seekers
originating in sub-Saharan Africa/Asia.

For level 3 there should be a clear
explanation of why the push factors
cause people to leave in large numbers.

Examples include:

War torn countries — people fear for their
lives, infrastructure is destroyed and so
their home country becomes inhabitable.
Starvation and lack of medical supplies.
Harsh regimes/unstable political
landscape — lack of freedom of
expression. Lack of jobs and quality of
education.

Genocide/Religious discrimination -
Rohingya persecution in Myanmar

Lack of health care, Disease e.g.
malaria, Ebola,

Lack of water/drought leading to disease
e.g. polio

© WJEC CBAC Ltd.
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Example 1 -Band 2 3 marks

Two reasons given with brief development
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Example 2 -Band 2 5 Marks

The candidate gives a reason with
a sophisticated chain of reasoning

{iv] Explam why there ane large numbers of refugees and asylum seehers onginsting in
sub-Saharan AfricalAs= [ [E]
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{iv) Explain why there are large numbers of refugees and asylum seekers onginating in
sub-Saharan AfricalAsia.
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Example 2

(i)  Describe one way inwhich the map could be adapted to illustrate the fow of e-wasla
rmore chearty. 2]
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Question 3

(a) (iii) Describe one way in which the map could be adapted to
illustrate these movements more clearly.

AOl.1

AO1.2
AO2

SPaG

One mark for relevant
suggestion and one
mark for development.

Vary the width of arrows to reflect migration

data (1) more visually representative of the
data/easier to interpret (1)

Include more countries (1) shows a fairer
representation (1)

Use colour to represent different values (1)

Include more years (1) show change over
time (1)

N 1AO3

N | Total

© WJEC CBAC Ltd.
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Question 4

(a) (iii) Describe one way in which the map could be adapted to
illustrate the flow of e-waste more clearly.

AO1.1

AO1.2
AO2

SPaG

One mark for relevant
suggestion and one
mark for development.

Vary the width of arrows to reflect e-waste
data (1) more visually representative of the
data/easier to interpret (1)

Use colour to represent different values (1)

Include more countries (1) shows a fairer
representation (1)

Include more years (1) show change over
time (1)

N IAO3

N Total
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Example 1 - 1 mark

The candidate makes a valid
suggestion but the development
does not show why this would
show the movement more clearly











Example 2 - 2 marks

{if) Describe ene way inwhich the map could be adaptad to illusirate the fow of e-washe |

rnore chearty. [2]
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3a(iii) Describe one way in which the map could be adapted to illustrate these movements
more clearly. [2]

4a (jii) Describe one way in which the map could be adapted to illustrate the flow of e-
waste more clearly. [2]

15
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Example 2

(iv) Explain why e-waste has an impact on the environment. 6]
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(a) (iv) Explain why e-waste has an impact on the environment.

AO1.1
© A01.2
AQO2
AO3

SPaG
® |Total

Use the descriptors below, working upwards from the
lowest band.

Band

Marks

Descriptor

5-6

Good understanding of why e-
waste impacts the
environment.

Meaning is clear. The
response has purpose, is
organised and well structured.

3-4

Some understanding of why e-
waste impacts the
environment.

Meaning is generally clear.
The response is structured.

1-2

Simple statements that show
basic understanding of
impacts on the environment.
Meaning may lack clarity in
parts. Statements are linked
by a basic structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Responses should show a good
understanding of why e-waste is in
particular has an impact on the
environment.

For Band 3 there should be a clear
explanation of the impact of e-waste
components on the environment and
may consider transportation.

Examples include:

The transportation of e-waste to their
destination sites causes CO2 and NO2
pollution. This will contribute to the
greenhouse effect and climate change.
If transported by sea then there is a risk
of water pollution.

The large volume of e-waste causes
landfill issues in their destination
countries and may cause destruction of
the natural ecosystem.

E-waste contains substances such as
copper, iron and nickel and if not
extracted for recycling they can cause
soil or water contamination.

Max Band 1 if not specifically e-waste
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Example 1 -Band1 2 marks

The candidate makes valid points
with regards to transport, global
warming and landfill. However
there is no specific reference to
issues that e-waste creates. e
Therefore limited to Band 1











Example 2 - Band 3 6 marks

specific reference to the issues that e-
waste creates. Reference toit's
contents. It is very clear from the
response that the candidate has a
good understanding.

{iv) Ewplain why e-wasle has an impact on the environmeant. (61
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(iv)

Explain why e-waste has an impact on the environment.

[6]
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Examiner
only

SECTION B — OPTIONS
Answer one question in this section, either Question 3 or Question 4.
THEME 7: Social Development Issues
3. (a) Studythe map below.

Top 5 countries of origin for first time asylum applications to
European Union countries in 2016

ASIA

UNION

(i) Give the country with the highest number of asylum applications to the European
Union from the five countries shown. 1]

COUNITY e

14
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Examiner

|
(i) Describe the pattern of the top five countries of origin of asylum seekers into the o

European Union. Use evidence from the map only. [3]

(i) Describe one way in which the map could be adapted to illustrate these movements
more clearly. [2]

(iv) Explain why there are large numbers of refugees and asylum seekers originating in
sub-Saharan Africa/Asia. [6]

15
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(b) (i) Read the definitions below.

Definition

A view of seeing social development as an ongoing process.

Measures of development that look at the difference between males and
females in a country.

The difference in development between rich and poor countries.

Differences in the ways males and females are treated in different countries.

mj OlOo| @ |>»

Differences in the people per doctor and life expectancy of different countries.

Add the letter of the correct definition to each of the terms below. One of the definitions
will not be used. [4]

Term Definition

Development Gap

Continuum of Social Development

Gender measures of Social Development

Health measures of Social Development

Study the Resource Box below.

Resource Box

Malaria Prevention Lesson World Health Organization Malaria Prevention
(Bottom up) Conference (Top down)

malaria

Malaria Fact Box

In the year 2000, 839000 people died from malaria. In 2015, 438000 people died.

Over % of all deaths from malaria are children aged under 5.

Malaria is spread by mosquitos. Controlling mosquitos is important in controlling malaria.
Insecticide treated nets for people to sleep under prevent mosquito bites when people are
sleeping. Local education programmes are important to encourage people to use these
nets.

» The World Health Organization began a trial Malaria Vaccination Program in Africa in
2017. In the small group of people involved, the death rate in children reduced by half.

16
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17

(i)  ‘Bottom up approaches to development are the better option to address health care
issues in sub-Saharan Africa.’” To what extent do you agree with this statement?
(8]

End of Question 3

17
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Examiner
. i only
If you have answered Question 3 do not answer Question 4.
THEME 8: Environmental Challenges
4. (a) Study the map below.
Estimated Flow of E-Waste from the USA in 2016
EUROPE ASIA
NORTH AMERICA 24 Million tons
1 milli
USA 2n fons i
0.6 million ina
tons
0.9 million tons Pakistan Taiwan
Mexico 8.2 million tong Hong Kong
AFRICA
0.2 million tons
SOUTH Kenya
AMERICA
AUSTRALASIA

(i) Give the country with the highest estimated flow of e-waste from the USA shown on
the map. (1]

COUNTIY o

(i) Describe the pattern of e-waste destination sites shown on the map. Use evidence
from the map only. [3]

18
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(iii) Describe one way in which the map could be adapted to illustrate the flow of e-waste
more clearly. (2]

19
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Examiner
only

(b) (i) Read the definitions below.

Letter Definition

Programmes that protect biodiversity, wildlife, wild places or endangered species.

A positive impact on the well-being of a community.

A strip of habitat which allows wild animals to move from one ecosystem to another.

An area of countryside that is protected by the government for people to enjoy.

m| OO | @

Tourism that takes into account the needs of local people.

Add the letter of the correct definition to each of the terms below. One of the definitions
will not be used. [4]

Term Definition

Conservation Project

Ethical Tourism

National Park

Wildlife Corridors

Study the Resource Box below.

Resource Box

Sustainable tourism, Kerala Wildlife corridor, Netherlands

corridor

Managing Natural Habitats Fact Box

The average tourist spends over $700 per person.

Tourism creates 11% of the world’s employment.

Most methods of travel increase the amount of carbon dioxide in the atmosphere.
A US-Costa Rica Debt-for-Nature Swap will provide $1M for Forest Conservation.
The current rate of rainforest deforestation is 160000km? per year.

20
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(i) ‘Sustainable tourism is the best option for managing natural habitats.” To what extent
do you agree? [8]

End of Question 4

END OF PAPER

21
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BLANK PAGE

PLEASE DO NOT WRITE
ON THIS PAGE
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Question
number

Additional page, if required.
Write the question number(s) in the left-hand margin.
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Question
number

Additional page, if required.
Write the question number(s) in the left-hand margin.
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Question
number

Additional page, if required.
Write the question number(s) in the left-hand margin.

25

© WJEC CBAC Ltd. (3110U20-1) Turn over.

Examiner
only





26

Question
number

Additional page, if required.
Write the question number(s) in the left-hand margin.
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Example 2
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(b) (iii) Suggest reasons for the differences between the two nutrient
cycles. Use the resources to help your answer. : 2 ~l o (chs T
Q| Q| O] C| a| o
4 € € < 0]
6 6

Use the descriptors below, working upwards from the

lowest band.

Band | Marks

Descriptor

Applies good understanding of
the link between climate and
elements of nutrient cycles.
Meaning is clear. The response
has purpose, is organised and
well structured.

Demonstrates some
understanding of the link
between climate and elements of
the nutrient cycle(s)

Meaning is generally clear. The
response is structured.

Simple statements that show
basic understanding of how one
or more elements of the nutrient
cycle impacts results in a
characteristic of either the tundra
or tropical grassland
ecosystems.

Meaning may lack clarity in
parts. Statements are linked by a
basic structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Candidates are required to interpret and
analyse the resources to make
connections to apply their knowledge
and understanding of the link between
climate and nutrient cycles.

Examples include:

Overall the tropical grassland ecosystem
has larger stores and flows of nutrients
than the tundra due to there being a
larger input of rainfall and weathering
which will lead to a faster cycle of
decomposition and uptake.

In the tropical grassland ecosystem, the
largest store of nutrients is in the
biomass. This may be due to the warm
temperatures extending the growing
season and therefore keeping the
nutrients in living material for longer.

Max band 1 if climate is not linked to
nutrient cycle.

Max band 2 if the candidate only refers
to one nutrient cycle.

© WJEC CBAC Ltd.
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Example 1 Band 2 3 marks

Suggest reasons for the differances betveen the byo nuirient cyclas on page <
Lis2 the resourcas on pages 3 and 4 to help your enswer, [B] |

Mot Motk =fund Omesdonds 00 L fes senibham.
Maninghast. G manbtly oo e fquadins aa the
AT Teacfert ey it b Aeascns. prenent .
A i.-:_- Wt oind Al Offnda d_-'l.jl Mmoo, ok fisa .

. : b ik une eearly.  Ood doe Aonac ik
The catelicate etiid ok Aot &l whee ik dotan' b imin opentis

this observation about the - : ;
climate to different aspects | Ji»ﬁ’.l‘ﬁm—ﬁ s ﬂru.nv_ pa. A et dnd boaod adr
E'rﬁaim.t Tlﬂ_i,lj e by dowem. . bucaitae )

of the nutrient cycle.

Ot mema._. ﬂm ’ﬁuﬂ- M g Aot it
T e T

LLI‘L&.., it ak ko Wp e The MoTHien  hincoaphee

The candidate begins to link :

the climate observations to oo hee Maefote.. Whaele  Mobe o s Less. frequistk

the nutrient cycle but not ek gt b ea, haghas gt Lombitaling £
chenly ek pean -t Jravrbiiods dudk aa.. The. lelomias

s -LI:I’L- ieve g tundm dddawse g
N Moz, Lranges ] o desect. e
Ot f-....d..lnd:.tf-r LB AP Ot Thi ML:IE....

. &’,E’EE.U: g dn the scoae,
Toia tdasa AU ovdd

.!k;-:-:,n.a-im o MmWM.WWIm@

The candidate nearly shows

a clear link between the et Mo s tlag grmaod v Ao, Wb i
climate and ﬂ"E_ nutriemnt AT BT AR I:i-,ﬁ.n.m mp.-m_ At ..

pecle Bk novaie: Liaa. h.:tﬂ:UiumLﬂ ke J:U_ntu_uﬂ-. ol 'Ln.a.q Fm!.& Pﬂr.'h.l!m











Example 2 - Band 3

Short but definite link
between climate and the

nutrient cycle

The second biome is
discussed with a link
between climate and the
nutrient cycle.

Applies good understanding
of both cycles which enables
the candidate to get a Band
3 mark.

6 marks

Suggest reasons for the differences befween the two nutrient cycles on page 3.

Mg Haok & (b of beel Seeru-apd

-ﬁ);"h.‘.ﬁ-&ﬁ

Tis, suoutel axcgleciin faz -Lunh....ks_u#mﬁwﬂm

e H.up ) "EJ CH_HM il ﬁpﬁw

elie.. b0 Hae ladifide .
geat® fﬁ“%w Lma;;.ahnai-e;ﬁ . Ws. arca, A |
sy it Jo Feo  carmedniin
Mo sun . (2l dopesd

u'.ﬁ..hv mh A R G
Lewy Iﬂu&;m. pere_u u.mﬂ.}{w ot aud H

negre pREa, o) Ha coarn mﬁ&mmﬁhwﬂ*‘h

This  esung  Haed dice (oS

..... Wlﬁit_" Mﬁwuﬂf’ ?G the Soon Apibs P csanentzue

gl dbe  eavin ot an uﬁ-’{ my Hor duind g

avaluies it lewoer, ﬁl}.l;’ ak 'TE? Haﬂ{ﬂ
T. i '[-15 {mﬂ Lffih}ﬁ A hﬁh VEASLAVE (LM . &f{a.‘l
Mr cﬂfﬂm E-u‘-axé. s o .Em-r"!,r

m:g: :.ﬁ.u.,.ﬂ eyihiE e
Mirfirmr h[nr" lﬂml‘h_\"rln [ & -‘:J.Emr

B e conddions ih Y fel mpa-
jfm:[whi'- e Anck  tund el Uaceuposiim..
LRECLLL, Papr nﬂ.l'—j msnd i l’}_l-ﬂd;:fj absorpbest e
fmwfry Meac«_;.-ﬁ% I}Lb_ﬂ Blonials G408 L.-';Mar .....

T L1 L-U:ﬂ.sr ...... e Has (i thad b |

ottt

i. e hl1l T

avese ]

Ly

Usa tha nisources on pagas 3 and 4 1o Relp your answar. 81| 4

e
"
















(i) Study the climate graphs below.

Climate graph of hot semi-arid grassland Climate graph of tundra
a5 40 350 40
300+ =00 30
E . S E oo o5
£ |l E° -
g 200 E g 200 . 10 E
B 150 E_ & 150 — ey o E
E 100 2 E 100 z \\ 10
=0 —z0
o+ —20

Key
[] Haot semi-arid grassland
[ Tropical Rainforest

[ Temperats Deciducus Forest
[ Taiga (Boreal Forest)

] Semi-Desert

[ Subtropical Desert

[] Woodiand/Shrubland

] Tundra

1 Polar lce cap

Suggest reasons for the differences between the two nuinent cycles on page 2.
Use the resources on pages 3 and 4 to help your answer. [6]




































































Example 2

{v) Describa two positive effects of tourism on the infrastructure of a LIC or NIC that
you have studied. [4]

MName of country . Mesice P ——
Anice. .. ok egioved isX. . Sonary . by {5 fouiiie
MO eico.. S Meaty L i AR thams R
buddl ... Hospita.. itk halpg  roee Deark fore
anGther._ Peadhive 13 epreved  WnfelBieutgbiee®

Suth as pubiit  tranzposs foncis  Sed ranw ML,

they.. . aiso.. amgrosved. . theie  lirergey rate by
BAREI IR i I s s B S

















(a) (v) Describe two positive effects of tourism on the infrastructure of

a LIC or NIC that you have studied. : 2 ol o Bl w
Q| 0| 0| 0| a| &
4 € € < 0]

Credit 1 mark for each | WIFI availability for tourists (1) enables 4 4

positive effect and a locals to be communicate with the rest of

further mark for the world more easily. (1)

development. Improvements in transport routes for

242 3+1 tourists (1) enable locals to travel more

Do not credit the easily (1)

naming of a country. Larger/new airports for tourists (1) enable

greater amount of goods to be

Max 3 if location is not | imported/exported.

clear

(b) (i) Identify the correct definitions for the following terms N
Jl 4| o o R B
Q| O] Q| O| a| ©
4 <€ < < 0| F

Credit these answers A1) 2 2

only B (1)

© WJEC CBAC Ltd.
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Example 1 - 1 marks

The candidate has correctly
identified new roads being
built as a positive effect on
infrastructure, but has not
developed this as to how it
is positive to the country or
locals rather than the
tourists.

{v)
you have studied.

Name of country ......

Eyapl
R LM"ME’L} j]ﬂ

Eﬂjf

The building of hotels is not
considered as infrastructure

éfﬁm{* J

ﬂ%?’kﬁw

ol e

£ i 75 1L

43

Describe two positive effacts of tourism on the infrastructure of a LIC or NIC that

4]

Qg

;f

}m” e
M PZM

Ty

.mﬂé..q)é AN
b m











Example 2 - 4 marks

(v} Descrite two positive effects of tourism on the infrastructure of 8 LIC or NIC that
you have studied. 4
MName of country ... Mesice .

OOANIER....... AOE. .. W Rl A S oty gy (55 f0MitEe,

Two clear positive effects on
T [l R T T T T U+ ot S L YRS S T - R |

infrastructure with development e ey T_‘-""'f o
bukd ... Fospiam.. . which  helps  Fler . Dearw (o4

-\-\".

H‘H angther.  Poschive V5. Impreved  InferShrwohar?

~ |
Sugh .0S  publit  troaspest  , geods  ond gloron g,

fh;-:.j.,",'_"‘“»cusu.....i.mpm.md... their, litsrwey. (802 by ...
T 1T ORI, - 111 F c e ——
















(v) Describe two positive effects of tourrsm on the infrastructure of a LIC or NIC that
you have studied. [4]

Name of country .











Example 1

SN0 _Dever 4e1ANAYIaca) £ee) Anan TN ..

{i} Explain why enclave tourism has consequances for development in LICs andior
NICs.

(6]

(0 O A0 NAS QL85 e mn_m_m_x%_u_m_m_ﬁ.\ nee
ane 0 deve\aD 08 f08) a8 ey Wowd MK e Yo
AUE 10 DEDDIE GIOUS PaNg TNece  TNEYwiou
QNGO Dove 1N (ONSRAMENCE TRGINEL bl

DL INGSS IS TN (ouniil Nas e
JUER I0AE AL e 8T Gvet arawided











Example 2 - Band 3 6 marks

(i) Explain why enclave tourism has consequances for development in LICs and;glri
MICs. i

Chntlove bowism s twhave fecpie book. pockage. bolidass ..
obhere Hhivgs Bk focd , dewis sl ackvine are cal ino

M Lieronul (ondequaence 05 l2auage . Loige holiday
Compaunsd Send Hy, oy bach to bk fuedq st in. .
Fhe HIcC.., ::l[&ﬁ'ﬂ.hfl!:j. M ol ecen Gy of e bl fapisa Toiaidis . |
Seciatly. ik mean that locals emplayd by tonmpan
o poat ol enclode.  BRueaion u.?&ml!:a:, losd coowal cren’b.
Wﬁd My bR, TS vecund . thak proph. et ...
wundogpy. aeel toden advandage of . ST @A N by tosdsH

bgsticnon  wiks lpcald | Se !a.:auﬂga.ﬁwf:.. thaad coneded v breer,
divetlgped ave jost.

















(b) (ii) Explain why enclave tourism has consequences for

development in LICs/NICs?

SPAG

AO1.1
® A01.2
AO2
AO3
O |Total

Use the descriptors below, working upwards from the
lowest band.

Band

Mark

Descriptor

Good understanding and detailed
explanation of why enclave tourism
has consequences for development.
Answer must be clearly relating to
LICs/NICs.

Meaning is clear. The response has
purpose, is organised and well
structured.

Some understanding of why enclave
tourism has consequence(s) for
development. Some reference
made to LICs/NICs.

Meaning is generally clear. The
response is structured.

1-2

Simple statements showing limited
understanding of why enclave
tourism has consequences for
development.

Meaning may lack clarity in parts.
Statements are linked by a basic
structure.

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Responses should demonstrate
understanding of why enclave tourism
has consequences for development in
LICs/NICs. Consequences referred to
may be positive or negative.

To gain the higher levels there must
be a clear explanation why tourism
links to development.

Max B1 if not enclave tourism

Examples may include:

Restricts economic development — as
many of the hotels built in LICS/NICs
are part of large multinational
companies, the majority of the income
generated from tourists is leaked back
to the countries where these
companies are located. This also
applies to airlines, cruise ships etc.

Enhances economic development —
the majority of tourists may look for
souvenirs to purchase, this opens up
opportunities in the informal economy
for hand made products to be sold to
tourists, generating an income for
locals.

© WJEC CBAC Ltd.
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Example 2 -Band 3 6 marks

(i) Explain why enclave tourism has consequances for development in LICs and;glri
MICs. i

Chntlove bowism s twhave fecpie book. pockage. bolidass ..
obhere Hhivgs Bk focd , dewis sl ackvine are cal ino

M Lieronul (ondequaence 05 l2auage . Loige holiday
Compaunsd Send Hy, oy bach to bk fuedq st in. .
Fhe HIcC.., ::l[&ﬁ'ﬂ.hfl!:j. M ol ecen Gy of e bl fapisa Toiaidis . |
Seciatly. ik mean that locals emplayd by tonmpan
o poat ol enclode.  BRueaion u.?&ml!:a:, losd coowal cren’b.
Wﬁd My bR, TS vecund . thak proph. et ...
wundogpy. aeel toden advandage of . ST @A N by tosdsH

bgsticnon  wiks lpcald | Se !a.:auﬂga.ﬁwf:.. thaad coneded v breer,
divetlgped ave jost.











Example 2

The candidate indicates they fii) Explain why enclave tourism has consequences for development in LICs andfor
know what enclave tourism is. MICs.

(€l
T Endose towssm s twhare peopie book. pckage bovdass. ...
Tl

Where Huivgs  fiks, fecd , demk conel _ackivine ore oul oo |

A etononul . Condequence is. leaunge . Laige holiday. .. .
: .Cm}um_ﬁ..:._.;g.udi#w. oniy bk o heik fuedg sate. ...

. .I.I!f_._._Hiﬂ.-:..EL!—.E!-.".H'rﬁ..].ﬁ.u...lﬂm...:.mlmrﬁ. of e st fro oSt

Two consequences of enclave Shmmldja E.. Macu that Jocals empioyed by tonnpancn
tourism on development. Both of I

——ad o pat e b encloe.  toans adlhiee. | leciadd crual ren 't
which have some elaboration. F-en T 0‘3

m.ha.i@m todan advantage of . T e N b dowasasi

Indeiachon | LiMs lpeald | 5o imgugz Stalls gt cowdel've boss

















()  Explain why enclave tounsm has consequences for development in LICs and/or
NICs. [6]










Example 1

i} Towhal extent might projects such as H32 reduce UK regional inegualities i the

future? Lise the Resource Box to suppart your answar. You may akso rafer 1o othar
examples you have studied. i8]

The accuracy of your wriling will be assessed in your answer fo his gueshion [:!-]|
At goudd be a good project because .
the oreq will be akle bo dewedep and |

_creabe many - New jobs.- It woould olso
be o good project as i would allow
casy bmnsport O bhe capibal cby ond

aould be good  for People bo. commube.  grom.
their _hame Lo there .ﬁﬂca e As. well as. ..
s, b cwonld be a H.-"f..a.l‘ ety bo . bransparl
ﬂoﬂti-a.ﬁ:rmaﬁ‘: the. counbry as  lMe The . Mi,
b ve o died route fo tondon.. . .. . .
%uﬂé.,m the abher hand, there caidl
could &r‘nﬂ. Fmaf-ﬁd., The cost bo build the
road. . wowld  nak :}niﬂ be. expensive. forvbuld .
bbb wldl also fake & ﬂuna bime. Lo

il be  more peopls maving bo bondon Qs

bty will. rake. ok more clensely populaled. 51:.%5
ibowill also. . cawse. mang. businceses.. bo. dave











Example 2

{iiy WWWMMMMH@MUHWMHh
future? Use the Resource Box to support your answar. You may also refer 1o olha
examples you have studied. =
The accuracy of your writing will be assessed in your answar o this guestion.  [3

B oopes YO Gonag embermd Mnod  Prowcds sade ws WE2
nehos yedlikce Ve m(ﬁ\m ..... WEGAAU e e Mg
YaMan e . .
e novdn of quxumﬂ 'l"f-u chlmq_'. hﬂ-@n p:ﬂrwr
ot Mag  Sowdde e o Hee datnadiair calsodic
Il -
Yok teswitod  wn AL, peGhe ‘l..miﬂ.r_.h el :_L.u‘f,‘l._'l. B |
T effeched Map Colraana,. usra Oodiy Sor Yhe cxco..
Nestnexn  Civter ke leeds swusfer Sxoen Aoy GOF
Py counithan o F2h 000 duas Yo Mas  ooucinimmends
oing, st e, . Wnaxekore |, Mg foce Yeak V52
oy cosssed Leeds to secesuwe  ES nendlion of
wsesiada | Ia@atioe@andt TYOrn  cOmafEuadel  onovineg e dee
Mﬂ;lwm%ﬁ tHoowa -ﬁe:ll'gt.'ﬁl:.:'-"nqh.- o an
Wivedie mn Hee MumBer of joni cavedlable, . 9 Chanes
B! A Opang, e Caecu e O RAna O e 1 T U
Yeltund  reOr@ peeie il ne ewsplaged | hove e

LSRRI Mﬁ&tﬂ ﬂ% mﬂJ' AREnck  Dogie cpo -ﬂfﬂﬂ
Pedrlimionolley Hoave i VT4 of emphy ahopd. ba ek
vk codd  be . reduced  cluwe Yo WVAS2
Lo YNowemar, W conakel e ovguert Wred HAZ i et
Yadp Wee Uk on Moo fukuwe berosiue Aha -
daftevence pekiagen Moo  PRAeedoe ot Pecple
E,w'q;}lr.mg@.:i dn lGndoun canel . Lerl g n..x::n]..j.n-.r'-ﬂ.

pasiansd ., wasddn  Londiow ok TTH1* oma leadl ok
Tif. Tvis  veeant Maatr Mee Leed) olsecdy

Nay o vong  wiovkforce  Cind  Yae HCZ  wicedd
mot pmaoke o ot of AdHervence Yo Heo

el ogineasnde S A .

Ovenaad T oediaue  dana  MEZ . beil) be rl:}ﬂ-..t.l'-tﬁ'l
whoan Fegaing o P veaopbwadd e gaaadlitiey .
Mo Lik bﬂc%d caties like ooy il Speain. NG
ELOVEN ninaandt !i'-'-nd Al S Mowsn e
SomBmech. .o Wuoansport Wnles | ounck codiucaditoin,

















(c) (ii) To what extent might projects such as HS2 reduce UK regional
inequalities in the future? Make use of evidence from Resource Box : 2 ol o Bl w
11. Q| Q| Q| Q| a| ©
4 € <€ ) 0| =
8 3| 11

Use the descriptors below, working upwards from the

lowest band.

Band | Marks

Descriptor

Applies detailed understanding
of how the project(s) may reduce
UK regional inequalities in the
future. Acknowledges both side
of the argument. A clear link
should be seen between
investment and economic
development.

Conclusion is justified using a
sophisticated chain of reasoning.
To what extent do you agree is
clearly addressed.

Meaning is unambiguous. The
response has clear purpose, is
fluent and logically structured.

Demonstrates understanding of
how project(s) may reduce UK
regional inequalities in the future.
Some attempt to answer ‘to what
extent do you agree’ is made.

A valid conclusion is justified
Meaning is clear. The response
has purpose, is organised and
well structured.

Demonstrates some
understanding of how project
investment may reduce UK
regional inequalities in the future.
Meaning is generally clear. The
response is structured.

Simple statements that show
basic understanding of how
project investment may reduce
UK regional inequalities in the
future.

Meaning may lack clarity in
parts. Statements are linked by a
basic structure.

0

Award 0 marks if the answer is
incorrect or wholly irrelevant.

Balance acknowledges both sides of the argument
but doesn't necessarily give them equal weight.

Candidates are required to analyse and
interpret the resources and apply their
knowledge and understanding of
regional inequalities to make a decision.
For Band3 there should be a clear link to
a reduction in inequalities and why the
HS2 or other projects may contribute
towards this.

Examples include:

Extension of commuter belt - a higher
number of people may be able to travel
from greater distances to London to work
due to faster commute times. People
who live further away from London will
be able to access the higher salaries that
are available in the capital and so
increase their standard of living.
Encouragement of investment in
locations along the HS2 route. This will
lead to a positive multiplier effect in
locations that may have struggled for
investment previously.

Development of industrial locations close
to stops along the HS2 route

© WJEC CBAC Ltd.
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Example 1 - Band 2 4 marks

(i} Towhat extent might projects such as HS2 reduce UK regional inequalities in the
future? Use the Resource Box to support your answar. You may akso refer 1o othar
eAmples you have studied. [8]
The accuracy of your wriling will be assessed i your answer [o ihis guestion.  [3]

At qould be a good projeck because ...

The candidate makes a number of |—— Hl" Ei-"ﬂﬂ_ w_df he.abl to_duwdop.oed.. ..
valid point but these are not ~.creake "!"rﬂ.ﬂﬂ New 'dﬂ'b&‘ Iﬁ' wiauld. alsc .
developed. I _EE.._ o at}oci prqje.gf. aa W would allew

easy branspork to the capc,taicdﬂand

could be. geod..for. peapl. bo. commudbe...goom.. |
heir _hame Lo where ﬁéaﬂ o As. well as.
bhis, b would be a a."'c‘.a.ﬁ | bo . bransparl.
Haad,a ﬂa’:ro.a.ﬁ‘n the. Counbry as . e The. .M,

The candidate shows they can see maore b iAo died coute fo bonden. . oo
than one side of the argument. Aldh onp. i ol Mo sl
- ¥ . IS 'dj

aleo be. sorme” negebives thab thes project

could br'ﬂ'na. H]’Jﬁd, The cost to budd the
road. . wowld nak only be  expensive. fornbuld .
bk b wdl also  fake & a.':ma bume. bo
build. Another  ussue. with e pegject s . lhere .
il ..bc....m.r:rm....ﬂmm....mﬁ'-.-sa bo London . 0s

The candidate does not come toa ikt will. hoke. b more dﬂmﬁg--iﬂﬁﬂ“‘{ﬂiﬁdv%
decision or provide a conclusion ik will _alse.. . cause. Mmany. businesses. . bo. leawv
which limits themtoaBand 2mark. | ———— %












